
Toyota Corolla LB ‘97
Réf. 1023

Fitting instructions
1. Dismantle bumper and towing rings at end of vehicle.

Demount and remove the fixation tube on the coach work.
2. Install tow bar with points A and A’ against the back of the coach work on the deliberated

holes (picture 2). Points B and C push in the chassis via the deliberated holes and fit with the
existing drillings (picture 3). At points A’ install tubes between coach work and tow bar.
Afterwards insert bolts with washers (picture 4-5). At points B install the mounting pieces –f
on the bottom. Also install washers at points C at the exterior side of the chassis. Insert bolts
and fasten with bolts.

3. Reinstall bumper but firstly make an incision (picture 6).
4. Mount (*) and fasten with bolts.

Composition
Tow bar reference 1023
1 tow bar
1 ball T43/K or T35 or piece
50T

(*)

4 bolts M12-40 + washers (*)
2 bolts M8-35 + washers (A)
2 bolts M8-40 + washers (A’)
4 bolts M10-30 + washers (B)
2 bolts M10-40 + nuts and
washers

(C)

2 washers diam. 40x12x4mm (C)
4 washers diam. 25x8x2mm (A-A’)
2 tubes diam. 22-10-10mm (A’)
2 mounting pieces -f (B)
1 security shackle


